	Asphalt Pavement Preservation, Resurfacing, and Reconstruction at Various Locations STP-0700(089)												
NET LENGTH: ISLAND: DISTRICT: TYPE CODE:	: Kauai : Area 3			Grace Pacific LLC		Hi'ilawe Construction, LLC		Jas W. Glover		Road Builders Corporation*		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVERTISED: November 3, 2022 BID OPENED: December 8, 2022													
COMPLETION TIME:	One Year												
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	Clearing and Grubbing	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	N/A	N/A	\$50,000.00	\$50,000.0
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	FA	FA	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	N/A	N/A	\$100,000.00	\$100,000.0
301.0100	Hot Mix Asphalt Base Course(up to 6" thickness)	6,225	TN	\$189.00	\$1,176,525.00	\$237.50	\$1,478,437.50	\$220.00	\$1,369,500.00	N/A	N/A	\$180.00	\$1,120,500.0
301.0102	Hot Mix Asphalt Base Course (greater than 6" up to 12" thickness)	12,548	TN	\$195.00	\$2,446,860.00	\$237.50	\$2,980,150.00	\$235.00	\$2,948,780.00	N/A	N/A	\$180.00	\$2,258,640.0
401.0400	HMA Pavement, Mix No. IV (up to 3" thickness)	6,412	TN	\$205.00	\$1,314,460.00	\$272.00	\$1,744,064.00	\$235.00	\$1,506,820.00	N/A	N/A	\$250.00	\$1,603,000.0
401.0402	HMA Pavement, Mix No. IV (greater than 3" up to 6" thickness)	12,300	TN	\$204.00	\$2,509,200.00	\$272.00	\$3,345,600.00	\$275.00	\$3,382,500.00	N/A	N/A	\$250.00	\$3,075,000.0
401.0410	PMA Pavement, Mix No. IV PG 64E-22	16,362	TN	\$245.00	\$4,008,690.00	\$304.00	\$4,974,048.00	\$270.00	\$4,417,740.00	N/A	N/A	\$300.00	\$4,908,600.0
401.0500	HMA Pavement, Mix No. V Leveling	12,938	TN	\$212.00	\$2,742,856.00	\$247.00	\$3,195,686.00	\$280.00	\$3,622,640.00	N/A	N/A	\$300.00	\$3,881,400.0
401.0900	Pavement Smoothness Incentive	Allow	Allow	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	N/A	N/A	\$100,000.00	\$100,000.0
401.0910	Third-Party Profile Testing and Equipment	Allow	Allow	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	N/A	N/A	\$20,000.00	\$20,000.0
401.0920	Third-Party Dispute Resolution Profile Testing	Allow	Allow	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	N/A	N/A	\$20,000.00	\$20,000.0
404.0100	Slurry Seal	218,640	SY	\$13.60	\$2,973,504.00	\$13.00	\$2,842,320.00	\$13.10	\$2,864,184.00	N/A	N/A	\$13.30	\$2,907,912.0
408.0100	Crack Seal – Less than 1/2"	27,500	LF	\$5.50	\$151,250.00	\$5.05	\$138,875.00	\$10.50	\$288,750.00	N/A	N/A	\$10.60	\$291,500.0
408.0200	Crack Seal – 1/2" to 3/4"	27,500	LF	\$5.50	\$151,250.00	\$5.15	\$141,625.00	\$6.50	\$178,750.00	N/A	N/A	\$10.60	\$291,500.0
414.0110	Excavation of Weakened Pavement Areas	8,508	CY	¢407.00	\$1,165,596.00	\$405 00	\$1,063,500.00	<b>\$405.00</b>	\$1,403,820.00	N/A	N/A	\$140.00	\$1,191,120.0

Sheet No. 1 of 4 Sheets

	Kauai Area 3			Grace Pacific LLC		Hi'ilawe Construction, LLC		Jas W. Glover		Road Builders Corporation*		DEPART TRANSP	OF HAWAII MENT OF ORTATION YS DIVISION
DATE ADVERTISED: BID OPENED:	November 3, 2022 December 8, 2022												
COMPLETION TIME:	One Year										<b></b>		
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
415.0110	Cold Planing	112672	SY	\$10.00	\$1,126,720.00	\$12.20	\$1,374,598.40	\$24.10	\$2,715,395.20	N/A	N/A	\$10.00	\$1,126,720.00
604.4010	Adjusting Manhole Cast Iron Frame and Cover	10	EA	\$10,200.00	\$102,000.00	\$4,570.00	\$45,700.00	\$5,000.00	\$50,000.00	N/A	N/A	\$5,000.00	\$50,000.00
613.0100	Centerline and Reference Survey Monuments	107	EA	\$6,490.00	\$694,430.00	\$4,570.00	\$488,990.00	\$5,000.00	\$535,000.00	N/A	N/A	\$2,500.00	\$267,500.00
613.0200	Reconstructing Centerlime and Reference Survey Monuments	107	EA	\$11,250.00	\$1,203,750.00	\$8,610.00	\$921,270.00	\$7,000.00	\$749,000.00	N/A	N/A	\$2,500.00	\$267,500.00
615.0100	16-Inch Milled Rumble Strip, Centerline	39000	LF	\$2.50	\$97,500.00	\$2.55	\$99,450.00	\$3.39	\$132,210.00	N/A	N/A	\$5.00	\$195,000.00
615.0110	12-Inch Milled Rumble Strip, Edgeline	10000	LF	\$1.50	\$15,000.00	\$1.40	\$14,000.00	\$4.02	\$40,200.00	N/A	N/A	\$5.00	\$50,000.00
627.0100	Vehicular Counting and Classification System Sensor Replacement	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	N/A	N/A	\$50,000.00	\$50,000.00
629.1000	4-Inch Pavement Striping (Thermoplastic Extrusion)	17600	LF	\$2.00	\$35,200.00	\$1.70	\$29,920.00	\$2.93	\$51,568.00	N/A	N/A	\$4.00	\$70,400.00
629.1006	4-Inch Pavement Striping (Thermoplastic Hot Spray)	100	LF	\$9.00	\$900.00	\$8.70	\$870.00	\$2.93	\$293.00	N/A	N/A	\$4.00	\$400.00
629.1008	4-Inch Pavement Striping (Profiled Thermoplastic)	8300	LF	\$2.50	\$20,750.00	\$2.15	\$17,845.00	\$25.23	\$209,409.00	N/A	N/A	\$4.00	\$33,200.00
629.1010	Double 4-Inch Pavement Striping (Thermoplastic Extrusion)	81020	LF	\$2.00	\$162,040.00	\$2.10	\$170,142.00	\$2.70	\$218,754.00	N/A	N/A	\$7.00	\$567,140.00
629.1016	Double 4-Inch Pavement Striping (Thermoplastic Hot Spray)	41088	LF	\$2.50	\$102,720.00	\$2.35	\$96,556.80	\$2.70	\$110,937.60	N/A	N/A	\$7.00	\$287,616.00
629.1020	6-Inch Pavement Striping (Thermoplastic Extrusion)	170216	LF	\$2.00	\$340,432.00	\$1.95	\$331,921.20	\$2.50	\$425,540.00	N/A	N/A	\$4.00	\$680,864.00
629.1026	6-Inch Pavement Striping (Thermoplastic Hot Spray)	10000	LF	\$2.50	\$25,000.00	\$2.20	\$22,000.00	\$2.50	\$25,000.00	N/A	N/A	\$4.00	\$40,000.00
629.1030	8-Inch Pavement Striping (Thermoplastic Extrusion)	19900	LF	\$3.00	\$59,700.00	\$2.80	\$55,720.00	\$3.85	\$76,615.00	N/A	N/A	\$5.00	\$99,500.00
												Sheet No. 2 of	

	TABULATION OF BIDS	T											
PROJECT: PROJECT NO.:	Asphalt Pavement Preservation, Resurfacing, and Reconstruction at Various Locations STP-0700(089)												
NET LENGTH: Area 3 ISLAND: Kauai DISTRICT: Area 3				Grace Pacific LLC		Hi'ilawe Construction, LLC		Jas W. Glover		Road Builders Corporation*		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
TYPE CODE:	05-4R											HIGHWAY	'S DIVISION
DATE ADVERTISED: November 3, 2022 BID OPENED: December 8, 2022													
COMPLETION TIME:	One Year												
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1036	8-Inch Pavement Striping (Thermoplastic Hot Spray)	5800	LF	\$2.50	\$14,500.00	\$2.35	\$13,630.00	\$3.85	\$22,330.00	N/A	N/A	\$5.00	\$29,000.00
629.1050	12-Inch Pavement Striping (Thermoplastic Extrusion)	12720	LF	\$5.00	\$63,600.00	\$4.85	\$61,692.00	\$5.60	\$71,232.00	N/A	N/A	\$7.00	\$89,040.00
629.1100	Pavement Word (Thermoplastic Extrusion)	58	EA	\$537.00	\$31,146.00	\$512.50	\$29,725.00	\$490.00	\$28,420.00	N/A	N/A	\$500.00	\$29,000.00
629.1110	Pavement Arrow (Thermoplastic Extrusion)	232	EA	\$504.00	\$116,928.00	\$482.00	\$111,824.00	\$430.00	\$99,760.00	N/A	N/A	\$500.00	\$116,000.00
629.1120	Pavement Symbol (Thermoplastic Extrusion)	30	EA	\$510.00	\$15,300.00	\$487.00	\$14,610.00	\$490.00	\$14,700.00	N/A	N/A	\$500.00	\$15,000.00
629.1130	Yield Line (Thermoplastic Extrusion)	15	LN	\$488.00	\$7,320.00	\$466.50	\$6,997.50	\$516.00	\$7,740.00	N/A	N/A	\$700.00	\$10,500.00
629.1140	Crosswalk Marking (Thermoplastic Extrusion)	114	LN	\$488.00	\$55,632.00	\$466.50	\$53,181.00	\$516.00	\$58,824.00	N/A	N/A	\$700.00	\$79,800.00
629.1150	Thermoplastic Rumble Bars	4320	LF	\$17.20	\$74,304.00	\$16.40	\$70,848.00	\$52.00	\$224,640.00	N/A	N/A	\$10.00	\$43,200.00
629.2020	Type C Pavement Marker	11274	EA	\$3.00	\$33,822.00	\$3.05	\$34,385.70	\$12.00	\$135,288.00	N/A	N/A	\$5.00	\$56,370.00
629.2030	Type D Pavement Marker	35334	EA	\$4.00	\$141,336.00	\$3.60	\$127,202.40	\$10.50	\$371,007.00	N/A	N/A	\$5.00	\$176,670.00
629.2040	Type F Pavement Marker	51	EA	\$8.00	\$408.00	\$7.75	\$395.25	\$40.00	\$2,040.00	N/A	N/A	\$5.00	\$255.00
629.2050	Type H Pavement Marker	4220	EA	\$3.50	\$14,770.00	\$3.30	\$13,926.00	\$13.20	\$55,704.00	N/A	N/A	\$5.00	\$21,100.00
629.3100	Removing and Disposing of Existing Pavement Striping	221700	LF	\$1.50	\$332,550.00	\$1.40	\$310,380.00	\$3.14	\$696,138.00	N/A	N/A	\$3.00	\$665,100.00
629.3110	Removing and Disposing of Existing Pavement Words	51	EA	\$397.00	\$20,247.00	\$379.50	\$19,354.50	\$418.00	\$21,318.00	N/A	N/A	\$100.00	\$5,100.00
629.3120	Removing and Disposing of Existing Pavement Arrows	219	EA	\$399.00	\$87,381.00	\$381.50	\$83,548.50	\$418.00	\$91,542.00	N/A	N/A	\$100.00	\$21,900.00
629.3130	Removing and Disposing of Existing Pavement Symbols	30	EA	\$408.00	\$12,240.00	\$389.50	\$11,685.00	\$418.00	\$12,540.00	N/A	N/A	\$100.00	\$3,000.00
	1	1	I	I	Į					Į	I	Sheet No. 3 of	

Sheet No. 3 of 4 Sheets

	Asphalt Pavement Preservation, Resurfacing, and Reconstruction at Various Locations STP-0700(089)	_											
NET LENGTH: Area 3 ISLAND: Kauai DISTRICT: Area 3 TYPE CODE: 05-4R			Grace Pa		cific LLC	Hi'ilawe Construction, LLC		Jas W. Glover		Road Builders Corporation*		DEPART TRANSPO	OF HAWAII MENT OF ORTATION /S DIVISION
DATE ADVERTISED BID OPENED	: November 3, 2022 : December 8, 2022												
COMPLETION TIME:	One Year												
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.3140	Removing and Disposing of Existing Yield Line Markings	15	LN	\$451.00	\$6,765.00	\$430.50	\$6,457.50	\$418.00	\$6,270.00	N/A	N/A	\$300.00	\$4,500.00
629.3150	Removing and Disposing of Existing Crosswalk Markings	109	LN	\$378.00	\$41,202.00	\$361.00	\$39,349.00	\$470.00	\$51,230.00	N/A	N/A	\$300.00	\$32,700.00
629.3200	Removing and Disposing of Existing Pavement Markers	7701	EA	\$6.50	\$50,056.50	\$6.15	\$47,361.15	\$7.00	\$53,907.00	N/A	N/A	\$1.00	\$7,701.00
632.0122	Reflector Marker (RM-3 with Flexible Delineator)	155	EA	\$376.00	\$58,280.00	\$156.00	\$24,180.00	\$350.00	\$54,250.00	N/A	N/A	\$50.00	\$7,750.00
636.1000	Additional E-Construction Programs, Additional Licenses, or Additional Equipment	FA	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	N/A	N/A	\$10,000.00	\$10,000.00
645.2000	Traffic Control	FA	FA	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	N/A	N/A	\$100,000.00	\$100,000.00
671.1000	Protection of Threatened and Endangered Species	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	N/A	N/A	\$50,000.00	\$50,000.00
697.1000	Surveying	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	N/A	N/A	\$50,000.00	\$50,000.00
	A. Sum of All Items				\$24,354,120.50		\$27,204,021.40		\$29,952,285.80		\$0.00		\$27,228,698.00
	B. Either Furnish Foreign Steel Not to Exceed Minimal Amount (Fill in '0') or Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25% x A)				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	C. Amount for Comparison of Bids (A + B)				\$24,354,120.50		\$27,204,021.40		\$29,952,285.80		\$0.00		\$27,228,698.00
	I certify that this is a true and correct tabulation of bids for this pro	oject.								* Road Builders ( rejected due to fa Proposal	-	5	
	Eric Lijk		Jan 25, 2023										
	Eric Fujikawa, Project Manager	_	Date	-								Shoot No. 4 of	